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37, How' many times will the $ mark be dnsplayed after the execution of the following pseudocode?

BEGIN
Y op=0
REPEAT
Q=P MOD 2
IF Q =1 THEN
DISPLAY *$
ENDIF
P=P+1
UNTIL P <5
. END
1 ) 2 3 3 . @) 4

38. Consider the Aowchart on the right which inputs a number and displays
the message ‘Valid Mark’ if the input number is between 0 and 100

What should be the correct. terms for labels ®, @ and ®
respectively?

(1) N<=100, No, Yes

(2) N<=100, Yes, No

(3) N=100, No, Yes

(4) N=100, Yes, No

No

/ Display ‘Invalid Mark/ ©

/ Display *Valid Mark

;END

39, Which of the pseudocodes is equivalent to the logic
-of the flowchart on the right? ‘

(1) BEGIN ; (2) BEGIN
READ C  READC
F=9+C o 3F = 9*C/5 +32
-F=F+32 SHOW F
= 5*F END -
SHOW F
END
(3) BEGIN @) BEGIN
READ C : . READC
F = 9*C/5 +32 F=9*C
SHOW F F=C+32
END '. F=5%C
SHOW F
END

40. Which of the followmo isfare correct regarding programming languages‘?
A - Machine language uses binary digits (bits) based mstfucnons which a computer can
understand. -
B - Assembly is a low level machine dependent programmmo language which uses a symbolic
representatmn of machine code,
C - High level programming languages are machme independent.
(1) A only “(2) Aand'Conly (3) B and C only (4) All A, B and C
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Paper 11
Special Notes:

.../.../... indicate only one of the options included are considered as correct answer
Underlined key words or synonyms are mandatory

[..] Indicates marking guidelines

1
(i) If: chaeacter ‘m” :s represented in the ASCH able ax 109, write down the bibasy representation
of the word “no” using 7 bits for each chamcrer.
1101110 1101111
[Either only one of letters ‘n’ or ‘o’ is correctly represented:
1 Mark,
Both are correctly represented but the final answer not written OR incorrect:
1.5 Marks,
Final answer correct with or without steps
=2 Marks]
(ii) Consider the {aﬂcfei-ng-:%&f{spli fied togic cireule, which is designed-to swilch on a ceiling fan when
(a) temperature is HIGH while the power switch is ON. Wilte down the two relevant logic gaies
for & and €,
R PR T
Seviich OFF=0 s
g & [t e
| Temperature LW 0 i ]—' =t P
Sepsor HIGHs | _.;@i:
P — AND/ )~

AN 2/

[0.5 x 2 Marks

=1 mark]

80 - Information and Communication Technology (Marking Scheme) | G.C.E.(O/L) Examination 2018 | Amendments to be Included


https://pastpapers.wiki/

Department of Examinations

Confidential

2. (i)

() People who work with computers for Jong perinds sometimes compluin of sertain bealth issues.
The following shows the Health lssues (lbeled & - ©), Possible: Reasons (lubeled @ - @)
and Possible Solutions (faheled - &).

Maich each health issue ) ~@, with 4 possible resson @ -0 and a possible solution B-®-ang
wrile down using el labels,
(Note: There can be more thum one possibie solution for a given health fssue, Hawever, yoR
ave required 1o write only ene solition.)
Heulth lusum : Possdlsle Roason !

@ - Carpel Tume! Syndrome | |8 - Poor posture ar 2 non-ergonomically designed work specé

® - Computer Visipn Syndome | | ® ~ Painful compression of 4 sierve as f passes soross

®igital Bve Strain) the front of the wrist

© - Musculoskelewt disorder | | ~ Looking at computer sorcen for profonged periods

Posaible Selutions

@ - Rest the eve muscles by fooking up wnd staring for a moment at objects b the distance
@ . Stand up snd stretch the bagk, armg and fingess fraquently

® - Take rogutar short breaks from » repetitive sk by using an sfann as 4 reminder
< Avoit bending the wrists sed keep fhe wnms, wriats and fingers aligned when typing
@& - Use keyboard shorlouts to redice typing snd mouse movements

@ - Avoid hitlng the keys too hard while typing / wse sk nping

@ . Position the computer sereen o avoid glare | use curtaing or deapes on windows
® - Keep the compuier screen gbout 15 ko 200 degrees below gve lowl

Health Possible Possible
Issue Reason Solution
A H Q/R/S/T/U
B I P/R/V/W
C G QR
OR
A—H— Q/R/S/T/U
B—I— P/R/V/W
C—-G—Q/R
1 mark each for correct mapping of Health Issue with Possible Reason
[ 1 Mark *3
=3 Marks]
1 mark each for correct mapping of Possible Reason/ Health Issuewith Possible
Solution
[1 Mark *3
=3 marks]

**Note 1: If the answer include incorrect mappings with correct mappings NO
marks awarded

**Note 2:0nly the correspondence between each column in row is important and
the order of columns does not matter (i.e. Solution— Reason OR Reason—
Solution is acceptable)
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(i)
For cach of the issues (labelied B.B) below, identify the relevant term from the Hst and
write doon the feon aguingt esch slovant label, ’ )
@ . & person receiving aw wmall that appears 10 have come from & wellknown organization
a asking for ped informution sich as the credit and nuwober; the wsér name and
the password of the p % onling banking facflity )
& - The practive of taking someone @se’s work amd publishing Sem off as one’s ow
& - A porson having unsuthorized access to & computer network and mocessing personal
information such as pames end addresses of customers
B.a person setling unauthorized cuples of & liconsed software 8t & 5% of the original
. price g !
List of terms 1 {fwr sse, forgery, hacking, phishing, plagiarism, piracy, spam} !
A— Phishing
B— Plagiarism
C — Hacking
D — Piracy
[ 1 Marks*4
=4 Marks]|
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3 @i}mmmmaabemmﬂmnmﬂngwmmmm with certaln
missing tags and parmmeters labelled 4

{55 Roguw Avishy @&mnm & Aduyine. B
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hing cofrect tag or passmcter fom the Soflswing list for eadh of the labels
@ given in Figure2 and write dotwn againat cach Jebel number.
List of terms : {a, alt, b, by, conser, dl, heef. i, img, U, o, p, wre, sub, sup, table, uf, #, &, v}

6y 1—i< [0.5 Marks]
2—center <« [0.5 Marks]
3—src « [0.5 Marks]
4—alt <« [0.5 Marks]
5—ul  « [0.5 Marks]
6—table « [0.5 Marks]
7—a «— [0.5 Marks]
8—sub « [1 Mark]

[ =4.5 Marks]
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(ii) () Use the following B of tens dn answering questions (il and () below.

Yist of terens « { DNE server, domain ngme, FYP P ad ;

protocol, resowce, SMTF, spam mail,

uniform rasource. locgior (ERL), web serwer, Werled Wil

¥ demify dhe ecoerent mﬂmﬁm%eﬁm%m@@ﬁmmwﬁwmm
terany sgninet the lubel:
@

®

P— protocol
Q— world wide web
R~ domain name
S— top level domain
T-> path to resource
U-— resource
V— uniform resource locator/URL
[ 0.5 Marks* 7
=3.5 Marks]
(D) | Musch she descriptions given s &-@ with the comeet terms from tse Sist given above and
wiite down fwe relevant tenn agaings e label.

A | Delivers web pages 1 cliests using HITP
Helon mlquely identtfy & computer o g imemet

Every emall that Is sent passes throsgh a series of 1% i’gm
of servers along s way 1o 6 inleaded recipient.

{inwantcd cinait

A— web server

B— IP Address
C— Mail Server
D— Spam
[ A,C,D correct 0.5 each= 1.5 marks
+ 0.5 for B due to Tamil Translation Error
=2 Marks]|
4(i) {§y Consider tie = sesment giver below containing prices of tvo models of WE

compuiters wd .mm :

The dufivery cost is Re. 350 and this cost is shown in cofl B¥O, “Tond™ wonl Yol inclulivg
Erlivery Cost™ are to be  caloulaled for the two models.

fry ‘%‘ﬁmm mfmuaa ol should be cnsered B oooll BE o5 cnbouiate the "Toml for Model A
af =fancriondcefl] :oelld).

—sum(B3:B5) OR . sum(B3:B5)
(@) [=1.5 Marks]
**Note: No partial marks
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